| Title | On the contrapositive of count able choice |
| :---: | :---: |
| Author(s) | I shi har a, Haj i me; Schuster, Peter |
| Citation | Archive for Nat hemat i cal Logic, 50(1-2) : 137-143 |
| Issue Date | 2010-09-18 |
| Type | Journal Article |
| Text version | aut hor |
| URL | ht t p: //hdl . handl e. net /10119/10866 |
| Rights | This is the author-created versi on of Springer, Haj i me I shi har a and Peter Schuster, Archi ve for Nat hemati cal Logic, 50(1-2), 2010, 137-143. The original publication is available at umw. spri inger I i nk. com, ht tp: //dx. doi . or g/10. 1007/s00153-010-0205-8 |
| Description |  |

IAPAN

# On the Contrapositive of Countable Choice 

Hajime Ishihara and Peter Schuster*

April 19, 2010


#### Abstract

We show that in elementary analysis (EL) the contrapositive of countable choice (CCC) is equivalent to double negation elimination for $\Sigma_{2}^{0}$-formulas. By also proving a recursive adaptation of this equivalence in Heyting arithmetic (HA), we give an instance of the conservativity of EL over HA with respect to recursive functions and predicates. As a complement, we prove in HA enriched with the (extended) Church thesis that every decidable predicate is recursive.


Throughout let $x, y, z, z^{\prime}$, e stand for numbers (i.e., nonnegative integers); $f$ for everywhere defined number-number functions; and $P, Q$ for decidable predicates of numbers. The focus is on the contrapositive of countable choice $[5,2,1]$ :

CCC $\forall f \exists x P(x, f(x)) \rightarrow \exists x \forall y P(x, y)$.
In $[1, \text { Section 2.4, Lemma 5.5 }]^{1}$ it was proved that CCC follows from double negation elimination for $\Sigma_{2}^{0}$-formulas:
$\boldsymbol{\Sigma}_{\mathbf{2}}^{\mathbf{0}} \mathbf{- D N E} \neg \neg \exists x \forall y P(x, y) \rightarrow \exists x \forall y P(x, y) ;$
and that CCC implies the law of excluded middle for $\Sigma_{1}^{0}$-formulas:
$\Sigma_{1}^{\mathbf{0}}$-LEM $\exists x P(x) \vee \forall x \neg P(x)$.
In [1, Footnote 4] it was also conjectured that CCC lies strictly in between these two instances of the law of excluded middle.

The objective of the present note is to show that if one works in elementary intuitionistic analysis EL [4, 3.6], and restricts $P$ to quantifier-free predicates, then CCC is actually equivalent to $\Sigma_{2}^{0}$-DNE. Now EL is conservative over intuitionistic first-order arithmetic HA ([3] and [4, 3.6.2]) whenever the function variables characteristic of EL are interpreted as ranging over all (total) recursive functions, and thus-by Kleene's normal form

[^0]theorem - can be represented by numbers. Since CCC is the only place where a function variable occurs in the context of this paper, the equivalence of CCC and $\Sigma_{2}^{0}$-DNE can already be proved in HA provided that we limit $f$ to recursive functions, and likewise $P$ to recursive predicates. We give a formal proof of this result for the sake of completeness. As a complement we show, in HA enriched with the (extended) Church thesis, that every decidable predicate is recursive.

We first show how to arrive at the desired equivalence in EL. For this purpose let $P$ stand for a quantifier-free predicate. The aforementioned implications involving CCC are valid under these circumstances too; for the reader's convenience we briefly recall, in the subsequent lemma, their proofs from [1, Section 2.4, Lemma 5.5]. It is useful to remember before that double negation elimination for $\Sigma_{1}^{0}$-formulas:
$\boldsymbol{\Sigma}_{\mathbf{1}}^{\mathbf{0}} \mathbf{-} \mathbf{D N E} \neg \neg \exists x P(x) \rightarrow \exists x P(x)$,
also known as Markov's principle (MP), follows from each of $\Sigma_{2}^{0}$-DNE and $\Sigma_{1}^{0}$-LEM.
Lemma 1 [1, Section 2.4, Lemma 5.5]
(a) $\mathbf{E L}+\Sigma_{2}^{0}$-DNE $\vdash \mathrm{CCC}$.
(b) $\mathbf{E L}+\mathrm{CCC} \vdash \Sigma_{1}^{0}-\mathrm{LEM}$.

Proof. (a) Assume that $\forall f \exists x P(x, f(x))$. To show $\exists x \forall y P(x, y)$, in the presence of $\Sigma_{2^{-}}^{0}$ DNE it suffices to disprove $\forall x \neg \forall y P(x, y)$. From the latter we can infer $\forall x \exists y \neg P(x, y)$ by $\Sigma_{1}^{0}$-DNE; whence the function $f=\lambda x \cdot \mu y . \neg P(x, y)$ is everywhere defined. By assumption, for this $f$ there is $x$ with $P(x, f(x))$, which is in conflict with the definition of $f$.
(b) We first notice $\forall f \exists x[P(x) \vee \neg P(f(x))]$. (For any $f$, if $\neg P(f(0))$, then take $x=0$, and if $P(f(0))$, then $x=f(0)$ is as required.) By CCC there is $x$ with $\forall y[P(x) \vee \neg P(y)]$. For any such $x$, if $P(x)$, then $\exists x P(x)$, whereas if $\neg P(x)$, then $\forall y \neg P(y)$. Q.E.D.
It is to be noted that in EL the construction of a function by unbounded minimisation, as used in part (a) of the foregoing proof, can be coped with by quantifier-free choice.

Lemma 2 In $\mathbf{E L}$ each of the following assertions implies the next:

$$
\exists f \forall x \neg P(x, f(x)) ; \quad \forall x \exists y \neg P(x, y) ; \quad \forall x \neg \forall y P(x, y) .
$$

Proposition 3 EL $\vdash \Sigma_{2}^{0}$-DNE $\leftrightarrow \mathrm{CCC}$.
Proof. It suffices to show that CCC implies $\Sigma_{2}^{0}$-DNE, to which end we may use $\Sigma_{1}^{0}$ DNE. Since the consequents of CCC and $\Sigma_{2}^{0}$-DNE are identical, we only have to verify that $C \equiv \forall f \exists x P(x, f(x))$, the antecedent of CCC, follows from $D \equiv \neg \forall x \neg \forall y P(x, y)$, an equivalent of the antecedent of $\Sigma_{2}^{0}$-DNE. By Lemma $2, D$ implies $\forall f \neg \forall x \neg P(x, f(x))$, from which we arrive at $C$ by means of $\Sigma_{1}^{0}$-DNE. Q.E.D.

One may have noticed in the foregoing proof (see also Lemma 2) that CCC even implies

$$
\neg \forall x \exists y \neg P(x, y) \rightarrow \exists x \forall y P(x, y)
$$

This clearly entails $\Sigma_{2}^{0}$-DNE, of which it therefore is yet another equivalent in EL.
We next turn to HA and a recursive adaptation of CCC. In the rest of this paper let $P$, as it occurs in the axiom schemes under consideration, stand for recursive predicates. Before going into any detail we first sketch how we arrived at the equivalence we were after. To this end we relativise CCC to any collection $\mathcal{F}$ of number-number functions:
$\mathbf{C C C}_{\mathcal{F}} \forall f \in \mathcal{F} \exists x P(x, f(x)) \rightarrow \exists x \forall y P(x, y)$.
It is plain that if $\mathcal{G} \subseteq \mathcal{H}$, then $\mathrm{CCC}_{\mathcal{G}}$ implies $\mathrm{CCC}_{\mathcal{H}}$. Hence CCC , which is $\mathrm{CCC}_{\mathcal{F}}$ with $\mathcal{F}$ consisting of all the number-number functions, is the weakest form. In particular, $\Sigma_{1}^{0}$-LEM follows from $\mathrm{CCC}_{\mathcal{F}}$ for arbitrary $\mathcal{F}$.

An inspection of the proof of [1, Section 2.4, Lemma 5.5], also recalled in our Lemma 1 , revealed the following:

- Let $f_{P}=\lambda x . \mu y . P(x, y)$ for every recursive predicate $P$ such that $\forall x \exists y P(x, y)$. If $\mathcal{F}$ contains all these $f_{P}$, then $\Sigma_{2}^{0}$-DNE implies $\mathrm{CCC}_{\mathcal{F}}$.
- If there is a partial recursive function $F$ such that $\mathcal{F}$ consists of the $F(-, e)$ which are total functions with e any number, then $\mathrm{CCC}_{\mathcal{F}}$ implies $\Sigma_{2}^{0}$-DNE.

Since the collection $\mathcal{F}$ of all the recursive functions satisfies the hypotheses of both items above, we thus have achieved the desired equivalence.

Before we make this argument precise we recall some well known facts from the theory of recursive functions. Whenever one says that recursive functions can be enumerated by numbers, and thus that quantification over the former can be reduced to quantification over the latter, one tacitly invokes Kleene's normal form theorem [4, 3.4.2, 3.7.6]. This indeed provides us with a predicate $T$ and a function $U$, both primitive recursive, such that the partial recursive functions are precisely the functions of type $\{e\}$ with $\{e\}(x) \simeq$ $U(\mu z . T(e, x, z))$, and any such $\{e\}$ is a total function precisely when $\forall x \exists z T(e, x, z)$. Moreover, computation is deterministic in the sense that

$$
T(e, x, z) \wedge T\left(e, x, z^{\prime}\right) \rightarrow z=z^{\prime}
$$

in particular, given $e$ and $x$, if $T(e, x, z)$ for any $z$, then $\{e\}(x)=U(z)$ for this $z$. As a consequence, for every recursive $f$ there is $e$ with $f=\{e\}$, for which $\forall x \exists z T(e, x, z)$, and $f(x)=U(z)$ whenever $T(e, x, z)$.

With Kleene's normal form theorem at hand it is easy to see that CCC for recursive functions is equivalent to
$\mathbf{C C C}^{0} \forall e[\forall x \exists z T(e, x, z) \rightarrow \exists x \exists z[T(e, x, z) \wedge P(x, U(z))]] \rightarrow \exists x \forall y P(x, y)$.

Note that $\mathrm{CCC}^{0}$ is free of function variables. If $P$ is a recursive predicate we write

$$
A \equiv \forall e[\forall x \exists z T(e, x, z) \rightarrow \exists x \exists z[T(e, x, z) \wedge P(x, U(z))]]
$$

for the antecedent of (the outmost implication of) $\mathrm{CCC}^{0}$, so that $\mathrm{CCC}^{0}$ simply reads as $A \rightarrow \exists x \forall y P(x, y)$. It is useful to keep in mind that $A$ is equivalent to

$$
\forall e[\forall x \exists z T(e, x, z) \rightarrow \exists x \forall z[T(e, x, z) \rightarrow P(x, U(z))]] .
$$

Parts (a) and (b) of the subsequent proposition are related to [1, Section 2.4, Lemma 5.5] as it is recalled in Lemma 1 above, whereas part (c) is related to Proposition 3.

## Proposition 4

(a) $\mathbf{H A}+\Sigma_{2}^{0}$-DNE $\vdash \mathrm{CCC}^{0}$.
(b) $\mathrm{HA}+\mathrm{CCC}^{0} \vdash \Sigma_{1}^{0}$-LEM .
(c) $\mathrm{HA}+\mathrm{CCC}^{0} \vdash \Sigma_{2}^{0}$-DNE .

Proof. To prove (a), suppose that $P$ is a recursive predicate for which $A$ holds. Since $\neg P$, too, is a recursive predicate, by Kleene's normal form theorem there is $e$ with $\{e\} \simeq \lambda x \cdot \mu y . \neg P(x, y)$; for the time being this recursive function may be partial. To show $\exists x \forall y P(x, y)$, in the presence of $\Sigma_{2}^{0}$-DNE it suffices to show $\neg \forall x \neg \forall y P(x, y)$ : that is, to deduce a contradiction from $\forall x \neg \forall y P(x, y)$. Assume the latter, which by $\Sigma_{1}^{0}$-DNE means that $\forall x \exists y \neg P(x, y)$. Hence $\forall x \exists z T(e, x, z)$ and thus, by $A$, there are $x$ and $z$ with $T(e, x, z)$ and $P(x, U(z))$, for which also $\{e\}(x)=U(z)$ and thus $\neg P(x, U(z))$, a contradiction.

To prove (b), let $Q$ be a recursive predicate. To show $\exists x Q(x) \vee \forall x \neg Q(x)$, it suffices to verify $A$ for $Q(x) \vee \neg Q(y)$ in place of $P(x, y)$. Indeed, by $\mathrm{CCC}^{0}$ we then obtain $x$ with $\forall y[Q(x) \vee \neg Q(y)]$. For this $x$ either $Q(x)$ or $\neg Q(x)$; in the former case $\exists x Q(x)$, in the latter case $\forall y \neg Q(y)$. To verify the desired instance of $A$, fix $e$ and assume that $\forall x \exists z T(e, x, z)$. In particular, for $x=0$ there is $z$ with $T(e, x, z)$. For this $z$ either $\neg Q(U(z))$ or $Q(U(z))$. In the former case the present choice of $x$ and $z$ is as required. In the latter case we take $x=U(z)$, for which by assumption there is $z^{\prime}$ with $T\left(e, x, z^{\prime}\right)$.

To prove (c), let $P$ be a recursive predicate, and assume that $\neg \forall x \neg \forall y P(x, y)$. To show $\exists x \forall y P(x, y)$, in the presence of $\mathrm{CCC}^{0}$ it suffices to show $A$, to which end we may use $\Sigma_{1}^{0}$-DNE according to (b). To prove $A$ fix $e$ and assume that $\forall x \exists z T(e, x, z)$. By $\Sigma_{1}^{0}$-DNE, to show $\exists x \exists z[T(e, x, z) \wedge P(x, U(z))]$ it suffices to deduce a contradiction from $\forall x \forall z \neg[T(e, x, z) \wedge P(x, U(z))]$ as follows. For every $x$ there is $z$ with $T(e, x, z)$, for which $z$ we must have $\neg P(x, U(z))$; whence $\forall x \exists y \neg P(x, y)$ and thus $\forall x \neg \forall y P(x, y)$, which is in conflict with our assumption. Q.E.D.

Corollary 5 HA $\vdash \Sigma_{2}^{0}$-DNE $\leftrightarrow \mathrm{CCC}^{0}$.
We conclude this paper with a proof of the fact that in HA plus the (extended) Church thesis every decidable predicate is recursive. To be precise on this, we need to consider the following three properties of a predicate $R$ relative to an extension $\mathbf{S}$ of HA :
(1) $R$ is externally recursive in $\mathbf{S}$ : that is, there is a closed term (or numeral) $t$ such that $\mathbf{S} \vdash \forall x \exists z[T(t, x, z) \wedge(R(x) \leftrightarrow U(z)=0)] ;$
(2) $R$ is internally recursive in $\mathbf{S}$ : that is, $\mathbf{S} \vdash \exists e \forall x \exists z[T(e, x, z) \wedge(R(x) \leftrightarrow U(z)=0)]$;
(3) $R$ is decidable in $\mathbf{S}$ : that is, $\mathbf{S} \vdash \forall x(R(x) \vee \neg R(x))$.

It is plain that (1) implies (2), and that (2) implies (3). Before we can look at possible reverse implications, we need to recall some theory from [4].

Let $\mathrm{CT}_{0}$ and $\mathrm{ECT}_{0}$ stands for the arithmetical form of Church's thesis and of the extended Church thesis [4, 4.3.2, 4.4.8]. As shown in [4, 4.4.10, 3.5.10], we have the following:

## Lemma 6

(i) $\mathbf{H A}+\mathrm{ECT}_{0} \vdash R \leftrightarrow \exists x(x \mathbf{r} R)$;
(ii) $\mathbf{H A}+\mathrm{ECT}_{0} \vdash R \Leftrightarrow \mathbf{H A} \vdash \exists x(x \mathbf{r} R)$;
(iii) $\mathbf{H A} \vdash \exists x R(x) \Rightarrow \mathbf{H A} \vdash R(\underline{n})$ for some numeral $\underline{n}$.

By Lemma 6.iii, which says that HA satisfies the explicit definability property for numbers (EDN), it is clear that if $\mathbf{S}$ is $\mathbf{H A}$, then (2) implies (1).

## Proposition 7

(a) In $\mathbf{H A}+\mathrm{ECT}_{0}$, every decidable predicate is externally recursive.
(b) In $\mathbf{H A}+\mathrm{CT}_{0}$, every decidable predicate is internally recursive.

Proof. (a) We show that
(3') $\mathbf{H A}+\mathrm{ECT}_{0} \vdash \forall x(R(x) \vee \neg R(x))$
implies the existence of a numeral $\underline{m}$ for which
(1') $\mathbf{H A}+\mathrm{ECT}_{0} \vdash \forall x \exists z[T(\underline{m}, x, z) \wedge(U(z)=0 \leftrightarrow R(x))]$.
To start with, (3') implies HA $\vdash \exists u(u \mathbf{r} \forall x(R(x) \vee \neg R(x)))$ by Lemma 6.ii, and hence HA $\vdash \underline{n} \mathbf{r} \forall x(R(x) \vee \neg R(x))$ for some numeral $\underline{n}$ by Lemma 6.iii. For this $\underline{n}$ we have

$$
\mathbf{H A} \vdash \forall x \exists z(T(\underline{n}, x, z) \wedge z \mathbf{r}(R(x) \vee \neg R(x)))
$$

by the definition [4, 4.4.2] of $\mathbf{r}$, by which further
$\mathbf{H A} \vdash \forall x \exists z\left[T(\underline{n}, x, z) \wedge\left(\left(j_{1}(U(z))=0 \wedge j_{2}(U(z)) \mathbf{r} R(x)\right) \vee\left(j_{1}(U(z)) \neq 0 \wedge j_{2}(U(z)) \mathbf{r} \neg R(x)\right)\right)\right]$.
Now two invocations of $\exists$-introduction yield
$\mathbf{H A}+\mathrm{ECT}_{0} \vdash \forall x \exists z\left[T(\underline{n}, x, z) \wedge\left(\left(j_{1}(U(z))=0 \wedge \exists v(v \mathbf{r} R(x))\right) \vee\left(j_{1}(U(z)) \neq 0 \wedge \exists v(v \mathbf{r} \neg R(x))\right)\right)\right]$,
from which by Lemma 6.i we arrive at

$$
\mathbf{H A}+\mathrm{ECT}_{0} \vdash \forall x \exists z\left[T(\underline{n}, x, z) \wedge\left(\left(j_{1}(U(z))=0 \wedge R(x)\right) \vee\left(j_{1}(U(z)) \neq 0 \wedge \neg R(x)\right)\right)\right],
$$

which in turn implies $\left(1^{\prime}\right)$ : simply take a numeral $\underline{m}$ such that $\{\underline{m}\}=j_{1} \circ\{\underline{n}\}$.
(b) Note first that

$$
\mathbf{H A} \vdash \forall x(R(x) \vee \neg R(x)) \leftrightarrow \forall x \exists y(R(x) \leftrightarrow y=0) .
$$

Now if HA $+\mathrm{CT}_{0} \vdash \forall x(R(x) \vee \neg R(x))$, then $\mathbf{H A}+\mathrm{CT}_{0} \vdash \forall x \exists y(R(x) \leftrightarrow y=0)$ and thus

$$
\mathbf{H A}+\mathrm{CT}_{0} \vdash \exists e \forall x \exists z[T(e, x, z) \wedge(R(x) \leftrightarrow U(z)=0)]
$$

as required. Q.E.D.
To prove part (b) already Church's thesis for disjunctions $\mathrm{CT}_{0}^{\vee}[4,4.3 .2]$ is sufficient. It is unclear, however, whether $\mathbf{H A}+\mathrm{CT}_{0}$ has EDN, and thus whether (a) can be proved with $\mathrm{CT}_{0}$ in place of the stronger $\mathrm{ECT}_{0}$.

Acknowledgements When this note was conceived Ishihara held the Grant-in-Aid for Scientific Research (C) no. 19500012 by the Japan Society for the Promotion of Science, whereas Schuster held a Feodor Lynen Research Fellowship for Experienced Researchers granted by the Alexander von Humboldt Foundation from sources of the German Federal Ministry of Education and Research. The latter author is grateful to Giovanni Sambin, Andrea Cantini, and their colleagues in Padua and Florence, for their generous hospitality. Both authors wish to thank Silvio Valentini for valuable discussions, Andrea Cantini for essential hints, and last but not least the anonymous referee for substantial clarifications.

## References

[1] Berardi, S., Some intuitionistic equivalents of classical principles for degree 2 formulas. Ann. Pure Appl. Logic 139 (2006), 185-200.
[2] Berardi, S., and S. Valentini, Between formal topology and game theory. Internal report, University of Padua (2004).
[3] Troelstra, A.S., Aspects of constructive mathematics. In: J. Barwise, ed., Handbook of Mathematical Logic. North-Holland, Amsterdam, 1977.
[4] Troelstra, A.S., and D. van Dalen, Constructivism in Mathematics. Two volumes. North-Holland, Amsterdam, 1988.
[5] Veldman, W., On the constructive contrapositions of two axioms of countable choice. In: A.S. Troelstra, D. van Dalen, eds., The L.E.J. Brouwer Centenary Symposium. North-Holland, Amsterdam, 1982, 513-523.

## Authors' addresses

Hajime Ishihara School of Information Science, Japan Advanced Institute of Science and Technology, 1-1 Asahidai, Nomi, Ishikawa 923-1292, Japan; ishihara@jaist.ac.jp

Peter Schuster Department of Pure Mathematics, University of Leeds, Leeds LS2 9JT, England; pschust@maths.leeds.ac.uk


[^0]:    *Corresponding author.
    ${ }^{1}$ Where $\Sigma_{2}^{0}$-DNE and $\Sigma_{1}^{0}$-LEM were called 2-Markov and 1-EM, respectively.

